

http://www.mahendras.org/

& 9:00 AM


http://www.mahendras.org/



http://www.mahendras.org/

/ Wathendna's / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

¢

Mohit Bhagat 12 hours ago

Thankyou Sir for Today's Awesome class Session.. J\, @
And

My solution for today's homework is like-

10%- didn't cast their votes...

Read more

i 9

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY

Archana Pal 19 hours ago

Home work answer

Option (B) 6200

Awesome session sir J\ €)
Thank u so much sir J\ A

e 9

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY

sarita rawat 21 hours ago
Homework answer

Option (B)6200

Awesome session sir § AR
Thanku so much sir 4\

e 9

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY

1

Simpal Kumari 8 howrs zgo

Homework ans
Option (B) 6200
Awesome sessiond @ G

W § REPLY

Palak Shukla 21 hours ago
Homework answer—
6200

Option B

Thankyou sir & A
1 8§ REPWY

v View reply from Mahendras : Online Videos For Govt. Exams

ﬁlickly@ 21 howrs ago
Ans is==6200
Thank you sir
o §

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY

Nidhi Tiwari 15 hours ago
Hw ans

6200

Thank you sir

. 9

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY

Je.com

subhankar mondal 14 hours ago

Hw ans

6200

Thank you sir
 § REPLY

v View reply from Mahendras : Online Videos For Govt. Exams

Rityaj Seth 21 hours ago
6200
b § REPLY

v View reply from Mahendras : Online Videos For Govt. Exams

punit pandey 21 hours ago
6200... Optn b

w &

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY
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In an election 10% of the voters on the voters' list did not cast votes and 60 voters cast their N
ballot papers blank. There were only two candidates. The winner was supported by 47% of all
voters In th Ilst and h t 308 votes more than his, v . The number.of voters on th ,I'Srt Wag

tlg?{ 3 aﬁ? 60

é u—uqq 4 \rlcll %

HI'?H. %CITTRJT?JT clggl 308 | 'ﬁiﬂﬁm&ﬁ
&t IeIm i

(A)3600 (B)6200 (C)7500 (D)6080 (E)None of these
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/The average salary of the entire staff in a office is Rs 250 per month. The average salary of
officers is Rs 520 and that of non officers is Rs. 200. If the number of officers is 15, then find

ta%numb rlc:#\fioﬁic:;ﬁi:t e.;ffTi e. étsogw % i W% o
520 - . 200 uig J©T 15 ,gi
a»‘l'qgg%ﬁ?&rfﬁ%!gﬁaf'éw I ® 'Gulu
(A)83 (B)81 (C)87 (D)72  (E)S6
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Pipes A and B can fill the tank in 5 hoursand 6 hours respectively. Pipe C can empty itin 12
hours. If all the three pipes are opened together, then the tank will be filled in how many
hours?
| AHﬂTBW%?ﬁW-SHﬂM [&H R IDd 3| g‘{u‘\;%??s%%z
%W?ﬁ | gfe g1 i uTey wmﬂ@mqgg%m G|
HY T?

YA Terdd JHT ST

‘(‘A)S 3/17 (B)9 3/17 (C)3 9/17 (D)4 3/17  (E)None of these
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a
A persons present age is two-seventh of the age of his mother. After 10 years he will be four-

ninth of the age of his mother. How old is e other after 15 years?
&%{wﬁ :m;gg T4l 81099 916 S0+t
maﬁarrgmawﬁm SITE| 15 99 UgTd HI Bt 3T

(A)50 (B)45 (C)35 (D)60  (E)None of these
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/A man can row a certain distance downstream in 12 hour and return the same distance in 18 )

hour If the sp a man in still wateris 1 mph Find the sp the s ‘a%e m.
s R

%an A STAH 12 tr ol YRT D1 T 31

(A)2.1kmph (B)1.5kmph (C)4.4kmph (D)2.4kmph (E)None of these
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In a bag there are 4 white, 4 red and 2 green balls Two balls are drawn at random. What is

the robability that at least.one ball i edc .
To 4 Hvc, 41T s%ﬁﬁé g el v § Pl wrd &, @

(A)1/6 (B) 3/7 (C)1/3 (D)2/3 (E)None of these
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4 N
What should come at place of the question mark (?) in the following number series ?

1. 520,532,508 ,544 ,? ,556

(A) 440 (B) 496 (C) 500 (D)510 (E)None of these
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4 N
What should come at place of the question mark (?) in the following number series ?

2.2033, ?,2054, 2075, 2103 , 2138

(A)2040 (B)2000 (C)2045 (D)2060 (E)2020
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4 N
What should come at place of the question mark (?) in the following number series ?

3. 20,12,14,23,48,°?

(A) 120 (B)122 (C)150 (D)140  (E)130
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4 N
What should come at place of the question mark (?) in the following number series ?

4.19,20,42,129,7,2605

(A)700 (B)1200 (C) 520 (DY450 (E)800
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4 N
What should come at place of the question mark (?) in the following number series ?

5.302,142,62 ,?,2,-8

(A)32 (B) 22 (C)25 (D)28 (E)35
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4 h

Q.(1to5) : - Direction for Question . Study the table given below and answer the

f%g%ng%ma{maﬁaﬁ?mwmw%?

Company Total Employee Employee in HR dept | % of female in HR
dept

A 300 80 75

B 250 50 80

C 400 100 60

D 200 60 60
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Va
Find the average no. of employee other than HR dept. in A, B and C together?

%wmﬁ%%ﬁ?mmﬁwﬁﬁA, B T C H UH T4 HHATN] Pt

<

(A)280 (B)270 (C)220 (D)300 (E)240
Company | Total Employee | % of
Employee |in HR dept | femalein
HR dept
A 300 80 75
B 250 50 80
C 400 100 60
D 200 60 60
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Flnd the difference between males of HR dept in company C and D together and females of

%Fé%%gaﬁ{%? q%;%%:cqg%ﬁg%m%W$ma&maﬁvWﬁaﬁvﬁﬁ

® I TP 1Y 3R UTd 82
(A)36 (B)42 (C )48 (D)40 (E)30
Company | Total Employee | % of
Employee |in HR dept | femalein
HR dept
A 300 80 75
B 250 50 80
C 400 100 60
D 200 60 60
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/1f total no. of employee in E is 25% more than D and no. of employee in HR dept is same as )
In company C, then employee other than HR dept in company E is what % of other dept

%ﬁ%ﬁ% s g o P L

$q=ﬁ H 3 Fq*‘uma? mmm% ‘>

(A)60% (B)80% (C)75% (D)50% (E)55%
Company | Total Employee | % of
Employee |in HR dept | femalein
HR dept
A 300 80 75
B 250 50 80
C 400 100 60
D 200 60 60
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Females in the HR dept of company C is what % more than male in HR department of

o gﬁ?@mﬁmﬁqu%@&mﬁmﬁwﬁmﬁ%

(A)250% (B)200% (C )100% (D)300% (E)150%

Company | Total Employee | % of
Employee |in HR dept | femalein
HR dept
A 300 80 75
B 250 50 80
C 400 100 60
D 200 60 60
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4 )
Find the average no. of Females in HR department together?

AT a1 faurT & Afgarsh &1 SNd W1 Uh J1Y JTd $R2

(A)54 (B)45 (C )49 (D)50 (E)52
Company | Total Employee | % of
Employee |in HR dept | femalein
HR dept
A 300 80 75
B 250 50 80
C 400 100 60
D 200 60 60
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\
Direction for Question:-1 TO 5

Thellnegrap hows th ataofflve erselllnganltem(mums ay and Tuesday.
g?% %I aét ﬁ)glﬁm% é%wna?éa

——Monday -#Tuesday
450

400 D 420
350 0 A /

300 H;VO/&\%X\
== ‘ e

150
100
50
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Item sold On Monday by C and E together is approximately what percentage of total items sold

d h
Aan B toget eron ',AGﬁ;BmWﬁWWﬂﬁT@W
aTg’GﬁWIFFT 1$ﬁ:ll

(A)71%  (B)80% (C)55% (D)85% (E)65%

——Monday Tuesday

450
400 400

420

350
300 300 AN T X

250 —zse—\n/ 270\

v
200 519

150
100
50
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2 . Find the difference between items sold by B, D, E on Monday together items sold by B and E on

d ?
;ungagg]g%ﬁamwBaﬁvemmmawaﬁwmﬂa%ﬁnéaﬁaﬁ%
I BT 3R JTd DIfolg ?

(A)150 (B)180 (C)160 (D)120 (E)200

——Monday Tuesday
450

400
P

420

400
350
300 3007 TN T X

270

250 250 \2%/ AN

200 10

150

100
50
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3 . ltems sold by B and C on Tuesday together is what % more than same sellers on Monday
together? , ,
Wa%’f B 3R C GRT TP HIY 9 7T A& JHAR B GHH fasbarsii S e

3[feIH 82

(A)25%  (B)30% (C)20% (D)15% (E)24%

1 ——Monday Tuesday

450

400
P

420

400

350

300 —3ee{j§0\ o~ X
250 250 \2%/ 270\,
200 \7*0
150

100
50
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a N
4. What is the avera eno 0 |ems ld by a llers on d
9 éﬁyr 11% aﬁﬂ 2 e?ﬁ;m TSI TG ?
(A)298 (B)305 (C)280 (D)300 (E)315

——Monday Tuesday

450
400

420

400 380

350

300 300 jw\ 320~ \\\
250 250 \4%/ 2L \
200 210

150
100
50



http://www.mahendras.org/

//\ Watiendrna's / / FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO CODE : E04613 /
/

5. The no. of item sold by A and C together is how much more or less then items sold by B and D
together on both days ?

A %ﬁgm%%?mBﬁ?DmﬁﬁﬁWWﬂﬁ

(A)250  (B)280 (C) 300 (D) 320 (E)350

——Monday Tuesday
450

400
P

420

400
350
300 —3ee{j§0\ o~ X

270

250 250 \2%/ AN

200 10

150

100
50
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/16. Atrain travelling at 72 km/hr. crosses a platform of 160 m in 18 second and another A
train travelling at 90 km/hr crosses the same platform in 15 second. Find the length of

anather train?
2@/%@% 18 HPS H 160 HieT BT H &t 3o
%ﬁ R:EKal TH A A 15 dbs H JHH UR Il gl
o A S &

(A)160m (B)180m (C)140m (D)200m (E)None of these
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/17 . If Pipes A and B can fill a tank in 15 min and 20 mins respectively and pipe empties the
tank in 12 minutes. what will be the time taken by A, B and C together to fill the tank
ompletely?

C

HH: MR 20 A A vh ThH I TP & 3R

S0E Ty ASM o 7, 15 P sh o e A B e g o 1
ATY T/ 1 99 =T 8R1T2

(A)25min  (B)30 min (C)40min (D) 20min (E)None of these
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18 If a person invested 6000 at R%o S.I for 3 year and same amount at (R + 5)% CI for 2

year and difference between poth interest is 60 Rs. t nf| dR’P(m %)
ﬁ%ﬁﬁg@gjgﬁ% R%S. 1 TR 6 %0% (§)+5)%C|u?2'q'cf$1%rq
PIHRG0D ?2 (%

(A)J15 (B)18 (C)20 (D)24 (E)None of these
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19 If ratio of ages of P and Q before 4 year ago is 5:4 and after 12 years sum of their ages
be 68 ears th r wha ﬁ as P's age 2 years a

_@T" ﬁangz %I%%WGIEQHS 4%aﬁv1zacf$ma=mﬁangmuﬁms

(A)24years (B)22years (C)18years (D)26years (E)None of these
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/20 . P invested 60% more than

PBhIATH R

Q and R invested 20% more than Q. If ratio of investment
time-period (P: Q: R) is 2: 4:3 and the sum of profit shares of Q and Ris Rs. 8550 then find

tg%pcrgofétgh(z)a/ze i %T%ﬁam%cn%l AR R&%TQ'@ 0% arf‘wegs%%m%l gfe
aﬁwm%ﬁlqvmu%gm (P: Q: R) 2: 4:3% Q ' 1'?"?%%T

R® dTH BT INRT 8550

(A)Rs3200  (B)Rs4000

(C)Rs2400 (D)Rs3600 (E)None of these
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/21, If a boat travels 18 km more in downstream than in upstream in 3 hr. and if the speed
of the Boat In still water is 20 km/hr. find the distance travelled by boat in downstream in 4

hr.? N : :
S s T8 2o A STy 0 o e e e o

(A)B6  (B)92  (C)68 (D)% (E)None of these
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/22 .\When a person sold an article, his profit percent is 60% of the selling price. If the cost
price is increased by 75% and the selling price remains the same, then find decrement in
the groflﬁ IS what percent of the sel ng price of the article?

oq Wam ﬁm

3%7:'51% q%wm §'§a§ Yo% H W%%fﬁm

(A)25% (B)30% (C)40% (D)27.5% (E)None of these
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23 . IT a shopkeeper marks an Item 50% above Its CP and It 12% discount Is given onthe
marked price and the shopkeeper makes profit of 256 Rs, then what will be the actual cost

price of the item? . .

Y T A 50% SR T Sifba , 3R afe sifpa
i h ek BB i
_hHd ?
(A)1000 (B)800 (C)750 (D)1200 (E)None of these

QY I v



http://www.mahendras.org/

FOR MORE DISCOUNT VISIT www.mahend ras.org & USE PROMO CODE :

THANKS



http://www.mahendras.org/

